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Note: All questions are compulsory. ',
Section A (1 x 6=6marks) . éﬂ};:g
QI.For what values of Z; — (;,simplex method is terminated in Maxﬁﬁizéation linear
programming problem.
Q2.Find all basic feasible solutions for Max Z = 2x; + 3x, m e
S/t 2%, + 3%, +4x3 =5y, s
3x; +4x, + 5x3 ;6;:22;&

Q3.Solution of Max Z = 4x, + 3x, e .

sit Xy +x; < 4,3% +x, <12 and xl,x2‘~>-*0'is unique or not.

Q4. Write the dual of linear programming problem glvenun quest10n number 3.
Q5. Write mathematical form of assignment prolglem

Q6. Give an example of unbalanced asmgnme;at problem and which method is used for solving
1t Y 7 §

Secﬁon B (3 x 3=9 marks)
Q7. Prove that the dual of the dual oﬁ the given primal problem is primal itself.
Q8. Solve the linear programmmgqgmblem by simplex method.
Max R = 22x + 30y“~h,25*z
s/t 2x + 2y < 100«,
2% +y 4, z 100
% +42y il Zz <100

,y,% %0
QO. Solve{[he ass1gnment problem for minimizing total time for doing all the jobs
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processes of which the inputs and outputs per production run are as follows:

Section C (3 x 5 =15 marks)

Q10. The manager of an oil refinery must decide on the optimal mix of two possible blending

Process Input(Crude A) Input(Crude B) Gasoline X Gasoline Y
1 5 3 5 8
2 4 5 4 4

The maximum amounts available of crude A and B are 200 units and 150 units respectively.
Market requirement shows that at least 100 units of gasoline X and 80 units of gasoline Y must
be produced. The profit per production run from process 1 and 2 are Rs 300 and Rs 400
respectively. Formulate the problem as linear programming problem and solve it graphically.

Q11. Solve the linear programming problem by Big M method.
Max z = 2x; + 3x; — 5x3
slt Xy +x,+x3=7
2x; — 5x, +x3 =210
X1,%2,%X3 =0
Q12. Solve the linear programming problem by dual simplex method.
Min z = 2x; + 3x;
s/t 2x, + 3x, < 30
X, + 2x, =210
Xy —x,20
X1 =5
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